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sum E_ [GeV]

7000 GeV pp Underlying Event
10 %I_ T 1T T 1T T 17 | L L T 1T | T T 1T T 1T T 1T 7 | —|§4(Q
B 35
Sum ET (4.0 < | < 4.8, "™ > 0.5(0.2) GeV, B > 20 GeV, | < 235}
o 1E =3
— 3~
E | — Al
Q1| 2l
40l = - - u =P
‘S’ — :OO
Zz " R
_ o

1072 = n =
107 g =_
— - O
— M
- s
10 & b . _§§
~ = Pythia 6.425 359‘* E;
10 Pythia 6.425a T Jmeeino — &,
= v~ Pythia6.425dw e el 35
— —o— Pythia 6.425 p0 <
106 & % Pythia 6.425 pro-g20 8
= =4
- 32
L =
(LA R S AU U T I S R R = b
2 | =2
1 1

0.5 —0.5
| " 1 1 1 " 1 | 1 1 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1
0 5 10 15



	Contents
	Page 1


